INDUSTRIAL CLUTCH MOTOR
PARTS NOMENCLATURE

i g

\% 7

Item No.j Part Name ltem No.| Part Name Item No.| Part Name [tem No.| Part Name
i Pulley 21 Screws 3/16" X 3/8 4 61
2 Lock screw3/8" x 3/18" 22 Star washer 3/16" (S 42 Flat washer 5/16" 62 End cover
3 Key 3/16" X 3/16" % 30 23 Special washer 43 Spring washer 5/16" 63 Capacitor (iPH only)
4 Clutch shaft 24 Pulley cover 44 Lock nut 5/16" , B4 Capacitor clamp
5 | Key 3/16"x3/16"x14 [ 25 | Belt cover 45 | Screws 1/4"x 172" {.7 65 | Rubber grommet
i Bearing # 6202 26 46 Clutch cork 66 6V Light socket
7 Cushion plate #6202 27 Arm pin 47 67 Spring washer 3/16"&5
8 Shaft sleeve 28 E - Ring 92 48 Flywheel
9 Clutch sleeve 29 Adjustment bolt 49 Fau blade
10 Bracket 30 Yoke screw 50 Screws 1/4" % 3/8"
11 Screws 1/4" X 3/4" 31 Lock nut 3/8" 51 | Middle bracke:
i2 Spring washer /4" 32 Clutch arm 52 Mount hinge pin
13 Lock washer 33 Belt adjustment bolt 53 Thrust spring ring
i4 | Bolt 1/2"x 1" 34 | Absorber 54 | Bearing # 6203
15 Lock nut 1/2" 35 Mounting bolt 55 Motor shaft
16 Screws 1/4" % 1/2* 36 Table mount 56 Rotor
17 Brake shoe 37 Wing nut1/4” 57 Stator
18 Clutch plate 38 Lock washer 3/8” 58 Cushion plate
13 39 Coil spring 59 Housing
20 Lock nut 40 &0 Termina block unit

From the library of: Superior Sewing Machine & Supply LLC



220V/50Hz

'BLUE(%)O-—' v I—OBHOWN(%%)

o 52858
®

GREY (%)

YELLOW .

WHITE |RED BLACK|| YELLOW
RED (e | (| (B | (&)

& GREEN (%) D RED
— =D
WHTE |
§=))
BLUE(=) (HE% YEEI%O;N
O— £
WHITE RED (1) = 4=k
) | )
- RED (4T )
20VS0Hz | o\ (m)
o | TURN  SWITCH
BI?%A;N YELLOW () B T %

SINGLE DIHECT[ON OF HOTATION FROM PULLEY SIDE

BLUE (=) BROWN (&5)
BLUE(-‘)
BLACK ()

WHITE YEI.L BLACK [[GREEN|| BROWN WHITE

BROWN (%)
RED(4L)

RED(L)

YELLOW
& GREEN , A (B¢ @) | G (B)
(5 BROWN YELLOW
/ ( P (%) (#)
™
RED
-
(L) YELLOW ’_il T GREY ()()
(#)
GREEN _ _,_
(8%) | wHITE
. {=P) SWITCH || FOR VOLTAGES
220V 110V ' M—I
(R EEERTFL) < : yd
WHITE(E)
rant T
110V/60Hz_ BLUE (=)
1 L o RED (£1)
( X ) BROWN
T - (&)
N
BLACK
(2
TURN SWITCH T
CeEm %) (%) ()

DOUBLE VOLT DIRECTION OF ROTATION FROM PULLEY SIDE

From the library of: Superior Sewing Machine & Supply LLC





